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56) The coordinator was asked to attend the issue and resolve it immediately.
[A] by

[B]in

[C]to

[D] No preposition required

57) Fill in the blanks with appropriate words by choosing the suitable set of answers from the
options given below the paragraph.

The disqualification as a (i) ___ of defection does not apply. If the original party of a member
(i) ___ with another party and he either changes his political party as a consequence of the
merger. A merges is (iii) ___ to take place only if not less than two-third of the (iv) ___ of the
legislative party (v) __ to such merger.

[A] (i) consequence (ii) merges (iii) deemed (iv) members (v) agree
[B] (i) consequence (ii) agree (iii) deemed (iv) members (v) merges
[C] (i) consequence (ii) deemed (iii) members (iv) merges (v) agree

[D] (i) consequence (ii) agree (iii) merged (iv) deemed (v) members

58) Fill in the blank:

Manoj played cricket for two days, he?
[A] did

[B] didn’t

[C] wasn’t

[D] wouldn’t

59) What is the meaning of underlined idiom in “We would be glad to put you up for a few
days

if you would like to stay”?
[A] tolerate someone

[B] build something

[C] provide accommodation

[D] contribute something

60) For the question below, determine the relationship between the pair in the question and
then select, from the options the pair having a similar relationship to the first pair.



Mendicant : Impecunious::
[A] Complainer : Petulant
[B] Hat : Askew

[C] Philanthropist : Prodigal
[D] Critic : Vagabond

61) Choose the right alternative to make it a meaningful sentence.

Though she is ___ by nature but she does not like that any stranger should on her
privacy.

[A] lugubrious, lonely
[B] garrulous, meddle
[C] salubrious, interfere

[D] gregarious, intrude

62) Fill in the blank:

Johnson has not prepared for tomorrow’s exam, he?
[A] isn’t

[B] hasn’t

[C] has

[D] does

Instruction: Read the following passage and answer the questions

It was Germany and France that the first successful attempts were made to produce an
internal - combustion engine driven by petrol. In England, people were strangely timid about
horseless vehicles. English inventors were handicapped by a quaint old law that forbade any
such vehicle to attain a greater speed than four miles an hour, and compelled each one to be
preceded by a man carrying a red flag. This law was not repealed until 1986.

The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl
Benz, a German, produced a three-wheeled, internal combustion car, a great forward stride
had been made. Another German, whose name, Daimler, is often seen on motor cars to this
day, was experimenting about the same time, and testing a petrol driven engine.

It is understood how the introduction of the petrol-driven engine revolutionalised road
transport throughout the world. Until then the necessary power to push a vehicle along could
not be obtained without the cumbersome tanks, boilers and furnaces of the steam engine. The
internal-combustion engine is light in weight and small in size by comparison; the fuel is
burned in it, so that there is no waste, like the durty cinders of a coal fire.63) What is
incorrect about the internal combustion engine?



[A] fuel burnt in it as waste
[B] light in weight
[C] noisy and clumsy

[D] small in size

64) Choose the word form the following list of words, which is correctly spelt.
[A] Facetious

[B] Obviete

[C] Paraphernelia

[D] Parcimonious

65) Read the following job advertisements and answer the questions that follow:

Teaching Position Available Teaching Position Available
Gandhi International School, one of the top performing schools is looking to Sairam Airconditions company seeks full time Front desk receptionist, you n
recruit passionate and competent teachers. You must be proficient in English. be:
25 hour per week - excelent in communication skills
(flexible times) - competent in basic computer skills
Rs. 40 Per hour -versatile
Plus bonuses -polite and approchable !
starting salary: Rs.28,000

Which job offers flexible time?
[A] Receptionist

[B] Graphic designer

[C] All the jobs

[D] Teacher

Instruction: Read the following passage and answer the questions

It was Germany and France that the first successful attempts were made to produce an
internal - combustion engine driven by petrol. In England, people were strangely timid about
horseless vehicles. English inventors were handicapped by a quaint old law that forbade any
such vehicle to attain a greater speed than four miles an hour, and compelled each one to be
preceded by a man carrying a red flag. This law was not repealed until 1986.

The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl
Benz, a German, produced a three-wheeled, internal combustion car, a great forward stride
had been made. Another German, whose name, Daimler, is often seen on motor cars to this
day, was experimenting about the same time, and testing a petrol driven engine.

It is understood how the introduction of the petrol-driven engine revolutionalised road
transport throughout the world. Until then the necessary power to push a vehicle along could
not be obtained without the cumbersome tanks, boilers and furnaces of the steam engine. The



internal-combustion engine is light in weight and small in size by comparison; the fuel is
burned in it, so that there is no waste, like the durty cinders of a coal fire.66) What made the
English inventors handicapped?

[A] The general public did not welcome the invention
[B] The quaint old law that forbade any such vehicle to attain a greater than fourmiles an hour
[C] Non-availability of adequate fuel power the engine

[D] Availability of micro-air vehicles

67) What is the antonym of ‘unanimous’ in ‘It was a unanimous decision’?
[A] United

[B] Partial

[C] Compatible

[D] Harmonious

68) Choose the correct order of the following jumbled sentences to make it a meaningful
paragraph.

(a) A dove, perched on a nearby tree, saw the ant's danger and dropped a leaf into the water

(b) Once, an ant who had come to drink at a stream fell into the water and was carried away
by the swift current

(c) He was about to fire when the ant, who was nearby, crawled forward and bit him sharply
on the ankle

(d) Sometime after this, a hunter, creeping through the bushes, saw the dove asleep, and took
a careful aim with his gun

[A] 1-(d), 2-(c), 3-(b), 4-(a)
[B] 1-(c), 2-(d), 3-(a), 4-(b)
[C] 1-(b), 2-(a), 3-(d), 4-(c)
[D] 1-(a), 2-(c), 3-(d), 4-(b)

69) Choose the correct order of the following jumbled sentences into a meaningful paragraph.
(a) Wages will seldom rise in proportion to the rising prices

(b) The problem of food is intimately connect with population, the market is governed by
demand and supply

(c) Without enough food, such people lack health, strength of efficiency and they fall an easy
prey to all sorts of diseases

(d) If too many people demand goods to go round, prices will rise and poor classes will starve
[A] 1-(c), 2-(d), 3-(a), 4-(b)
[B] 1_(d)’ 2-(C)! 3-(b)1 4-(a)



[C] 1-(a), 2-(c), 3-(d), 4-(b)

[D] 1-(b), 2-(d), 3-(a), 4-(c)

70) What is the synonym of ‘amenable’ in ‘Both parties were amenable to a peaceful
settlement of the land dispute’.?

[A] Doubtful

[B] Unwilling

[C] Responsive

[D] Disagreeable

71) Choose the right sequence of words to fill in the blanks marked (A) to (F) in the
following sentence to make it a meaningful paragraph.

How quickly things change in the technology (A)! A decade ago, IBM was the awesome

and (B). King of the computer trade, universally (C) and respected. A decade ago, two

little (D) called Intel and Microsoft were mere blips on the radar screen of the

industry, (E) start-ups that had designed to make the chips and software for IBM's new line of
personal computers. Thought their products soon became industry standards, the two
companies remained (F) children of the market leader.

[A] (A) upstart, (B) feared, (C) companies, (D) business, (E) upstarts, (F) undisputed.
[B] (A) business, (B) undisputed, (C) companies, (D) upstart, (E) companies, (F) protected.
[C] (A) business, (B) undisputed (C) feared, (D) companies, (E) upstart, (F) protected.
[D] (A) companies, (B) protected, (C) business, (D) feared, (E) undisputed, (F) upstart.

72) Please don’t disturb me, I the coins now.
[A] have been counting

[B] count

[C] was counting

[D] am counting

73) Either of the roads to Vasantha Nagar.
[A] lead

[B] leads

[C] have led

[D] are led

Instruction: Read the following passage and answer the questions

It was Germany and France that the first successful attempts were made to produce an
internal - combustion engine driven by petrol. In England, people were strangely timid about



horseless vehicles. English inventors were handicapped by a quaint old law that forbade any
such vehicle to attain a greater speed than four miles an hour, and compelled each one to be
preceded by a man carrying a red flag. This law was not repealed until 1986.

The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl
Benz, a German, produced a three-wheeled, internal combustion car, a great forward stride
had been made. Another German, whose name, Daimler, is often seen on motor cars to this
day, was experimenting about the same time, and testing a petrol driven engine.

It is understood how the introduction of the petrol-driven engine revolutionalised road
transport throughout the world. Until then the necessary power to push a vehicle along could
not be obtained without the cumbersome tanks, boilers and furnaces of the steam engine. The
internal-combustion engine is light in weight and small in size by comparison; the fuel is
burned in it, so that there is no waste, like the durty cinders of a coal fire.74) How did most
people regard early motor cars?

[A] Not better than horse-driven engines
[B] A mere joke, or as rather dangerous playthings
[C] A mere scientific experiment

[D] A cumbersome vehicle

75) Rishi his engineering course by the end of 2017.
[A] will completed

[B] complete

[C] will have completed

[D] was completed

76) In the following question, four pairs of words are given. Find the word pair which have
dissimilar meaning from the options given below:

[A] retrospective / prospective
[B] entice/ lure
[C] abhor/ detest

[D] introspection/ brooding

Instruction: Read the following passage and answer the questions

It was Germany and France that the first successful attempts were made to produce an
internal - combustion engine driven by petrol. In England, people were strangely timid about
horseless vehicles. English inventors were handicapped by a quaint old law that forbade any
such vehicle to attain a greater speed than four miles an hour, and compelled each one to be
preceded by a man carrying a red flag. This law was not repealed until 1986.



The earliest motor cars were looked upon as mere jokes, or as rather dangerous playthings, by
everyone except their inventors. Some of them were single-seaters, others would carry two or
even three people; but all were noisy, clumsy, queer-looking things. When in 1888, Carl
Benz, a German, produced a three-wheeled, internal combustion car, a great forward stride
had been made. Another German, whose name, Daimler, is often seen on motor cars to this
day, was experimenting about the same time, and testing a petrol driven engine.

It is understood how the introduction of the petrol-driven engine revolutionalised road
transport throughout the world. Until then the necessary power to push a vehicle along could
not be obtained without the cumbersome tanks, boilers and furnaces of the steam engine. The
internal-combustion engine is light in weight and small in size by comparison; the fuel is
burned in it, so that there is no waste, like the durty cinders of a coal fire.77) What were all
early motor cars?

[A] A plaything or toy meant for engineers
[B] A vehicle better than horse-driven vehicle
[C] Noisy, clumsy, queer-looking things

[D] Dangerous but beautiful

78) Which of the following is an ungrammatical sentence?
[A] Have they not been practicing yoga since their childhood?

[B] The team has been working hard meticulously for six months before they submitted the
project to the company.

[C] Hasn't the repaired the vehicle yet?

[D] If I were you, | wouldn't write this examination.

79) Choose the correctly spelt word from the options given below.
[A] occasional

[B] occassional

[C] ocasional

[D] occational

80) His mother was American though his father was European.
[Ala, a

[B] a, an

[C]an, a

[D] an, an

81) What is the meaning of the underlined phrase in ‘How did you wolf down that pizza so
quickly’?

[A] To eat gently
[B] To eat hungrily



[C] To eat slowly

[D] To swallow slowly

82) What is the synonym of ‘antidote’ in ‘Jogging is considered an antidote to mental
stress’.?

[A] Poisonous
[B] Remedy

[C] Equivalent
[D] Dangerous

83) Determine which of these words fits well in all, or the maximum number of sentences.
i) The bill ___ reduction in electoral expenses.

ii) The plan ___ ten percent growth in production

iii) The budget for the current year _ more or less double turn - over than that of last year.
iv) The company __ agood production due to better prospects of sugarcane production.
[A] seeks

[B] rated

[C] increased

[D] envisages

84) What is the antonym of ‘transperant’ in ‘The window-glass is transperant’?

[A] Opaque

[B] Translucent

[C] Susceptible

[D] Fragile

85) In the following question, a sentence is given in which one word is printed in bold type.

Your task is to select word or expression form the alternatives which convey same meaning
as the word printed in bold.

His acquittal by the jury surprised those who had thought him guilty.
[A] exoneration

[B] conviction

[C] arraignment

[D] denunciation
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) &. HrF) D 1) raod’S
D) .05, 2a0b& 2) &3>

Q) ©Trocd riresd 3) 8D

&) o0 EULN AEDD 4) SIS



[A] -1, O-2, -3, &-4
[B] d-4, -3, -2, &-1
[C] -2, -1, -4, &3

[D] D-2, &-3, -4, &-1

192) Desogd oo DIQ AT Dewsden?
[A] VS(BSo

[B] Q06§00

[C] NS

[D] 205°) 5 20050

193) 8q6Er) O ParErY” EwFdd?

[A] S.oe. / Qo0

[B] ./ 2.

[Cl ./ %2

[D] Béos/ 2.

194) 2090500 2,5 &P’ dyEevo 10°C o, DS ) S5e° e (s’
D§T§0?

[A] 18°F
[B] 21°F
[C] 10°F
[D] 15°F

195) P60 L) I 56> DISIPAFEH?
[A] Seds0Hen

[B] Ssomranen



[Clemged

[D] 02>

196) QB 10°C 2009 0°C H6EH 50, T 2030:57°6308" EF J°¢hy?
[A] 603006

[B] &chsood

[C] 20cse> 2066, ST Sroeh06

[D] 20cse> B0, ST DAMB0E

197) 20580306 056 DS’ &AM Rod0?

[A] U-235
[B] U-238
[C] U-236
[D] U-239

198) 1 205°S = ?
[A] 0.00001 Q..
[B] 0.0001 Qo..
[C] 0.001 Do..

[D]0.01 Q..

199) €306, &g&, MForon F0iidE D0560 I&?
[A] 920,06

[B] S56D066

[C] 686

[D] 208066



200) es602000, WEHDVE ErED Do DBy DA0DES” HReD SoEEEIS BLIRD
DB%0 AO?

[A] 880 5 0" e9) BHD0
[B] orsrareS” &5°08 D5 &0, 6> 0 &owd
[C] 30 B0 &) BY 8ocs &ord

[D] 25y

Answers

1)C 2)D 3)A 4)B 5)A 6)B 7A 8)C 9)C 10)D 11)D 12)C 13)D
14)A 15)D 16)B 17)D 18)A 19)C 20)A 21)D 22)A 23)C 24)D 25)A
26)D 27)B 28)A 29)D 30)A 31)B 32)B 33)C 34)C 35)C 36)D 37)B
38)B 39)D 40)A 41)B 42)D 43)A 44)C 45)A 46)D 47)C 48)D 49)A
50)D 51)D 52)A 53)A 54)D 55)D 56)C 57)A 58)B 59)C 60)A 61)D
62)C 63)C 64)A 65)B,D 66)B 67)B 68)C 69)D 70)C 71)C 72)D 73)B
74)B 75)C 76)A 77)C 78)B 79)A 80)C 81)B 82)B 83)D 84)A 85)A
86)D 87)D 88)C 89)C 90)A 91)A 92)B 93)A 94)A 95)D 96)D 97)C
98)C 99)B 100)C 101)C 102)C 103)A 104)D 105)A 106)D 107)D 108)D 109)C
110)C 111)A 112)C 113)B 114)C 115)B 116)B 117)C 118)C 119)C 120)D 121)D
122)C 123)A 124)C 125)B 126)D 127)D 128)D 129)A 130)D 131)D 132)C 133)C
134)A 135)B 136)C 137)A 138)B 139)A 140)B 141)A 142)B 143)B 144)D 145)D
146)D 147)A 148)D 149)B 150)D 151)A 152)C 153)A 154)C 155)D 156)A 157)B
158)A 159)A 160)B 161)B 162)D 163)D 164)A 165)C 166)D 167)B 168)A 169)A
170)B 171)B 172)A 173)D 174)B 175)B 176)C 177)B 178)B 179)D 180)A 181)D
182)C 183)B 184)A 185)C 186)D 187)B 188)D 189)B 190)B 191)D 192)A 193)C
194)A 195)A 196)D 197)A 198)C 199)D 200)D



